正宗老南师专转本

江苏专转本英语试卷结构及解题技巧
Part I
Reading Comprehension (共20小题, 每小题2分, 共40分)

Part II
Vocabulary and Structure (共40小题, 每小题1分, 共40分)

Part III
Cloze (共20小题, 每小题1分, 共20分)

Part IV
Translation (共35分)


Section A (共5小题, 每小题4分, 共20分)


Section B (共5小题, 每小题3分, 共15分)

Part V 
Writing (15分)

“阅读理解”考查重点及解题技巧

· 细节理解
（原因、目的、方式、条件、结果）
· 信息追踪 + 焦点锁定 （N+ADJ）
· 主旨把握
（大意、结论）
· 首段尾段 / 段首段尾

· 观点 ( ( 事实

考点例解

Reading Comprehension （2012，英语专业卷）

Passage One

Questions 1 to 5 are based on the following passage. 

Different countries and different races have different manners. Before entering a house in some Asian countries, it is good manners to take off your shoes. In European countries, even though shoes sometimes become very muddy, this is not done. A guest in a Chinese house sometimes does not finish a drink. He leaves a little, to show that he has had enough. In a Malay house, too, a guest always leaves a little food. In England, a guest always finishes a drink to show that he enjoys it.

We should like to find out the customs of other races, so that they will not think us ill-mannered. But people all over the world agree that being well-mannered really means being kind and helping others, especially those older or weaker than ourselves. If you remember this, you will not go very far wrong.

Here are some examples of the things that a well-mannered person does or does not do.

He never laughs at people when they are in trouble. He is always kind either to people or to animals. When people are waiting for a bus, or in a post office, he lines up to wait his turn. In the bus, he gives his seat to an older person or a lady who is standing. If he accidentally bumps into（碰撞）someone, or gets in their way, he says“Excuse me“ or“I’m sorry”.

He says“Please”when making a request, and“Thank you”when he receives something. He stands up when speaking to a lady or an older person, and he does not sit down until the other person is seated. He does not talk too much about himself. When eating, he does not speak with his mouth full of food.

 1. According to the passage, a knowledge of the customs of other races ___.


A. is very useful


B. is unnecessary


C. is unimportant


D. does not mean much

2. A person with good manners thinks of ___.


A. the older before himself 


B. himself before others


C. no one but himself


D. his personal interests

3. Which of the following is NOT true? A well-mannered person usually ___.


A. says“Please”when making a request


B. makes an apology for bumping into someone accidentally


C. sits where he is when speaking to a lady


D. tries to help those who are in trouble

4. If you want to be well-mannered, ___.


A. you laugh at people when they are in trouble


B. it’s all right to speak with your mouth full of food


C. you should stop someone when he is talking


D. you should speak after someone else has finished talking

5. As different countries have different manners, ___.


A. it’s unnecessary to learn their manners


B. we should try to find out the differences in the customs


C. it should be wrong to go out of one’s way to do anything


D. learning a little language would be helpful

Passage Two

Questions 6 to 10 are based on the following passage. 

I entered St. Thomas’s Hospital as a medical student at the age of 18 and spent five years there. I was an unsatisfactory student, for my heart was not in it. I had always wanted to be a writer, and in the evenings, after my tea, I wrote and read. Before long, I wrote a novel, called Liza of Lambeth, which I sent to a publisher and was accepted. It appeared during my last year at the hospital and had something of a success. I felt I could afford to give up medicine and make writing my profession; so, three days after I graduated from the school of medicine, I set out for Spain to write another book. Looking back now, and knowing the terrible difficulties of making a living by writing, I realize I was taking a fearful risk.

The next ten years were very hard, and I earned an average of￡100 a year. Then I had a bit of luck. The manager of the Court Theatre put on a play that failed; the next play he arranged to put on was not ready, and he was at his wit’s end. He read a play of mine and, though he did not much like it, he thought it might just run for the six weeks till the play he had in mind could be produced. It ran for fifteen months. Within a short while, I had four plays running in London at the same time. Nothing of the kind had ever happened before. I was the talk of the town.

6. When the author was a medical student, he ___.


A. had some trouble with his heart


B. was a very good student


C. wanted to be a writer after graduation


D. was satisfied with what he was doing at the time

7. When the author wrote his first novel, ___.


A. he sent it to a publisher but it was not accepted


B. he was still studying at the medical school


C. he succeeded in publishing it though it was not a success


D. he had graduated from the medical school

8. The author gave up medicine because at that time ___.


A. he thought he could make a living by writing


B. he knew the success of the book was natural


C. he knew it was no risk to be a writer


D. he was quite rich after the success of his book

9. For the first ten years of his writing career after his graduation, the author earned an average of ￡100 a year, which was ___.


A. a great sum


B. a bit of luck


C. a small sum


D. a moderate success

10. The manager of the Court Theatre agreed to put on the author’s play because ___.


A. he thought the author was a good playwright


B. he liked the author’s plays very much


C. he tailed to arrange a new play in time


D. he heard that the author had studied medicine before

Passage Three

Questions 11 to 15 are based on the following passage. 

Holding a cell phone against your ear or storing it in your pocket may be dangerous to your health. Apple, for example, doesn’t want iPhones to come closer to you than 1.5 centimeters. If health issues arise from cell phone use, the possible effects are huge.

Devra Davis has published a book about cell phone radiation, Disconnect. The book surveys scientific research and concludes the question is not settled. Brain cancer is a concern that Ms. Davis examines. Overall, there has not been an increase in its incidence since cell phones arrived. But the average marks an increase in brain cancer in the 20 to 29 age group and a drop for the older population.

“Children are more vulnerable（易受伤的）to radiation than adults, ”Ms. Davis and other scientists point out. If radiation penetrates only five centimeters into the brain of an adult, it will reach much deeper into the brains of children because their skulls are thinner and their brains contain more absorptive（易吸收的）fluid.

Henry Lai, a research professor in the bioengineering department at the University of Washington found that rats exposed to radiation had damaged DNA in their brains.

Ms. Davis recommends using wired headsets or the phone’s speaker. Children should text rather than call, she said, and pregnant women should keep phones away from the abdomen（腹部）.
11. Disconnect by Devra Davis is ___.


A. a kind of radiation


B. a kind of cell phone


C. a book about brain cancer


D. a book about dangers of using cell phones

12. According to Ms. Davis, brain cancer increases ___.


A. among children


B. among old people


C. among people in their twenties


D. among pregnant women

13. Why are children easily affected by radiation?


A. Because they haven’t grown up. 


B. Because they are too young to protect themselves. 


C. Because they use cell phones more often than adults. 


D. Because their skulls are thinner and their brains are easily hurt. 

14. What can we conclude from the last paragraph?


A. Pregnant women should keep cell phones away. 


B. People should use cell phones in the correct way. 


C. If you are a child, you’d better text than make phone calls. 


D. When you use a cell phone, use a wired headset. 

15. What does the passage mainly talk about?


A. Be careful when using cell phones. 


B. Don’t hold your cell phone against your ear. 


C. Rats exposed to radiation have damaged DNA in their brains. 


D. Low-energy radiation could damage cells that lead to cancer. 

Passage Four

Questions 16 to 20 are based on the following passage. 

There seems never to have been a civilization without toys, but when and how they developed is unknown. They probably came about just to give children something to do.

In the ancient world, as is today, most boys played with some kinds of toys and most girls with another. In societies where social roles are rigidly determined, boys pattern their play after the activities of their fathers and girls after the tasks of their mothers. This is true because boys and girls are being prepared, even in play, to step into the roles and responsibilities of the adult world.
What is remarkable about the history of toys is not so much how they changed over the centuries but how much they have remained the same. The changes have been mostly in terms of craftsmanship, mechanics, and technology. It is the universality of toys with regard to their development in all parts of the world and their persistence to the present that is amazing. In Egypt, the Americas, China, Japan and other parts of the world, generally the same kinds of toys appear. Variations depended on local customs and ways of life because toys imitate their surroundings. Nearly every civilization had dolls, little weapons, toy soldiers, small animals and vehicles.

Because toys can be generally regarded as a kind of art form, they have not been subject to technological leaps that characterize inventions for adult use. The progress from the wheel to the oxcart to the automobile is a direct line of progress. The progress from a rattle (拨浪鼓)used by a baby in 3000 BC to one used by a baby today, however, is not characterized by inventiveness. Each rattle is the product of the artistic tastes of the times and subject to the limitations of available materials.

16. The reason why the toys most boys play with are different from those that girls play with is that ___.

A. their social roles are rigidly determined


B. most boys would like to follow their fathers’ professions


C. boys like to play with their fathers while girls with their mothers


D. they like challenging activities
17. One aspect of “the universality of toys” lies in the fact that ___.


A. technological advances have greatly improved the durability of toys


B. the improvement of craftsmanship in making toys depends on the efforts of universities


C. the exploration of the universe had led to the creation of new kinds of toys


D. the basic characteristics of toys are the same the world over
18. Which of the following is the author’s view on the historical development of toys?


A. The craftsmanship in toy-making has remained essentially unchanged.


B. Toys have remained basically the same all through the centuries.


C. The toy industry has witnessed great leaps in technology in recent years.


D. Toys are playing an increasingly important role in shaping a child’s character.
19. Regarded as a kind of art form, toys ___.


A. follow a direct line of ascent


B. also appeal greatly to adults


C. are not characterized by technological progress


D. reflect the pace of social progress
20. The author uses the example of rattle to show that ___.


A. in toy-making there is a continuity in the sue of materials


B. even the simplest toys can reflect the progress of technology


C. it often takes a long time to introduce new technology into toy-making


D. even a simple toy can mirror the artistic tastes of the time
“词汇”考查重点及解题技巧

· 词义辨析 （义近用不同，形近义不同）
· 词用搭配 （固定搭配，词组）

考点例解

(2012真题)

42. If we ___ this speed, we will arrive there in about two days. 


A. keep up


B. keep from


C. keep out


D. keep away

43. They are shocked to find ___ water has been polluted. 


A. large quantities of


B. a great number of


C. a good deal of


D. a plenty of

44. This university is outstanding ___ its faculty and reference resources. 


A. in place of


B. in terms of


C. by means of


D. by way of

45. Liquids are like solids ___ they have a definite volume. 


A. on that


B. for that


C. with that


D. in that

46. Her sense of inferiority ___ her unfortunate family background. 


A. results from


B. brings about


C. results in


D. stands for

47. With more members signing up, our recreation club needs more ___.


A. sporting equipment


B. sports equipment


C. sports equipments


D. sport equipments

48. He is such a strong-willed person that there is nothing in the world that can ___ him. 


A. win


B. defeat


C. rescue


D. attach

49. She liked shopping but she was not in the ___ for it because she was a little exhausted. 


A. mood


B. mind


C. state


D. spirit

51. I would much ___ it if you could help me carry the luggage. 


A. appreciate


B. apply


C. admit


D. achieve

52. It has been two years since her brother was ___ with her parents. 


A. on contact


B. in contact


C. keep contact


D. come into contact

53. One must obtain ___ from the landowner to hunt in this forest. 


A. admiration


B. requirement


C. permission


D. association

54. The pill my mother gave me ___ my toothache. 


A. regained


B. restricted


C. relieved


D. released

55. He is in ___ about the job he is going to lose. 


A. despair


B. regret


C. defeat


D. risk
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英语结构热门考点
（一）谓语动词的时态及语态相关考点

谓语动词的时态取决于时间状语（包括表示时间的副词、介宾结构、时间状语从句）所表达的时间概念；谓语动词的语态取决于主语和谓语动词的关系。 是主谓关系谓语动词用主动语态，是动宾关系谓语动词则用被动语态。


1. The manager tells us that he has opened 30 chain stores since 2006. 


2. When I was a child, I knew that the earth turns about its axis.

3. He was punished for his wrong doings. 


4. By the time we got there, the play had already begun. 


5. When Mr. Delay got home after a day’s exhausting work, his wife and children were sleeping. 

（二）主谓一致相关考点

主要是谓语动词第三人称单数这种情况，考查考生能否准确识别真正主语，以及它的“数”的概念。如：


1. The moral of the officers was very high. 


2. Each boy and each girl in the city is asked to go to school. 


3. Neither the quality nor the prices have changed. (近位原则)

（三）将来时态相关考点

主句用将来时，从句则用一般现在时（或现在完成时）表将来题


1. We will start to work as soon as our teacher comes.


2. They will leave the classroom when they have finished writing.

（四）非谓语动词相关考点

特别是现在分词与过时分词的区别


1. The film shown last night was very moving. 


2. Having finished his lecture, the teacher asked if anyone wished to ask a question. 


3. The problem being discussed is very important. 


4. Given more time, we are sure to finish it. 


5. Will you please make yourself known to everyone here?

（五）It作形式主语及形式宾语相关考点


1. It is difficult to study English well. 


2. We think it is important to pass the exam. 

（六）强调句型相关考点


1. It was at an evening party that I first saw her. 


2. It is what you will do that is important. 


3. When was it that he bought a new car?


4. It was in so friendly a way that he talked with us. 

（七）倒装句型相关考点


倒装分两种：完全倒装和部分倒装。前者考得很少，后者常考，如：


1. Stop talking! There comes the teacher. （完全倒装）


2. So badly was he hurt in the accident that he had to be sent to hospital. 


3. Not only does he study well, but also he is always ready to help others. 

（八） 虚拟语气相关考点

虚拟语气主要有五个考点：

1） 非真实条件句（主要考查对“当前”和“过去”相反的假设，以及省略if时的倒装）。如：


1．If I had more time, I would have a vacation. 


2．Had I more time, I would have a vacation.


3．I would have done it better if I had had more time. 


4．Had I had more time, I would have done it better.


5．Had it not been for your help, we would never have been able to get over the difficulties. 
6．But for your help, we would never have been able to get over the difficulties. 
2） 表示奢望（wish等相关句型）。如：


1．I wish you would go with us tomorrow. 


2．I wish I had been to Beijing Olympic Center before.

3） 表示似是而非（as if相关句型）。如：


1．It looks as if he were drunk, but, in fact, he hasn’t drunk anything. 


2．He treats his elder sister as though she were a stranger. 

4） 名词性从句中的虚拟形式


在表示主观建议、要求、命令时，名词性从句（即主语从句、宾语从句、表语从句和同位语从句）里谓语动词要用“(should）+动词原形”，如果是被动则用“(should) +be +动词过去分词”形式。如：


1．I suggest that we (should) adopt a different policy. 


2．It is suggested that we (should) adopt a different policy. 


3．My suggestion is that we (should) adopt a different policy. 


4．I have a suggestion that we (should) adopt a different policy. 

以上第2句同类句型为重点：

It is essential/necessary/critical that …should + V….

5） 前后错位型

在or或otherwise之前用现实语气而后文则用虚拟语气。在but之前用虚拟，而之后用现实语气。如：


1．He does not like classic music, or he would be here now.

2．He does not like classic music; otherwise, he would be here now. 


3．He would be here now, but he does not like classic music. 


4．He didn’t attend the meeting yesterday, or he could have been elected monitor. 


5．He didn’t attend the meeting yesterday; otherwise, he could have been elected monitor. 


6．He could have been elected monitor, but he didn’t attend the meeting. 

（九） 情态动词相关考点

除了掌握常见情态动词基本用法外，常考点在三种表推测的情况，分别为must表对现在事情的肯定推测 ，can't表对现在事实的否定推测， must have +v-ed表示对过去事实的肯定推测，而则表示过去应该做某事而没有做）


1. The ground is so wet; it must have rained last night. 


2. She must be a doctor; she knows so much about medicine. 


3. My father can’t be sleeping now, for he has a lot of work to do.


4. Mike can’t have gone to the party yesterday; he has an exam tomorrow. 
（十）形容词及副词相关考点

主要是比较级、最高级、倍数表达，另外还有likely/possible/probable; worth/worthy; too much/much too; already/yet等区别题。


1. His books are three times as many as my books. 


2. The Nile river is the longest river in the world. 


3. It is much too hot tonight. 


4. The harder he worked, the happier he felt. 

“结构”考查重点及解题技巧

· 形

· 动词 

（谓语、非谓语；时态、语态）
· 名词 

（数；格）
· 形容词
（比较级、最高级）
· 副词

（比较级、最高级）
· 序
· 后置修饰
（定语从句、状语从句、分词结构、不定式结构）
· 倒装
（否定；Only；省if；so）

· 倒置
（前置；中置=插入结构；远置； as）
考点例解
1-1.
谓语形式-时态
2011-21. 
By the middle of the 21st century, the vast majority of the world's people ___ in cities rather than in rural areas.


A. are living

B. will be living


C. have lived

D. will have lived
2012-41. 
By the time you get home, we ___ in Qingdao for one week. 

A. will be staying


B. will have stayed


C. would have stayed


D. have stayed
· Since we met last summer, we ___ each other. 

A. have not seen

B. did not see

C. had not seen

D. will not see

· When my father came back last night, I ___ TV for 3 hours. 

A. was watching

B. watched

C. had watched

D. had been watching

· After we ___ our supper, we went to the supermarket for some milk.

A. had

B. had had

C. were having

D. had been having

· When I was in middle school, I was taught that the earth ___ around the sun.

A. move

B. moves

C. moved

D. is moving

1-2.
谓语形式-语态

2011-37. 
Needless to say, the second list of words ___ more easily than the first one.


A. can remember

B. can be remembered


C. will remember

D. be remembered
2012-29. 
We can’t enter the room because its door ___.


A. locked


B. locks


C. is locked


D. is locking

2.
主谓一致

2011-32. The president of the college, together with the deans, ___ planning a conference for setting a series of regulations.


A. were

B. are

C. is

D. be

2012-23. The owner and editor of the newspaper ___ the conference. 


A. were attending


B. was to attend to


C. is to attend


D. are to attend
Neither the students nor the teacher ___ the movie before.


A. saw


B. has seen


C. have seen


D. having seen

Mary is one of the girls who have ever been to Tokyo.

Mary is the only one of the girls who has ever been to Tokyo.

3.
非谓语形式

2012-32. 

___ in the park, I came across my former English teacher. 


A. If wandered


B. If wandering


C. While wandered


D. While wandering

2012-37. 

Although ___ alone at home, he didn’t feel lonely. 


A. leaving 


B. leave


C. leaves


D. left

#

2011-24. 
It was so hot that they ___ the electric fan ___ all through the night.


A. had; running

B. had; run


C. had; ran

D. had; to run
2012-22. 

After the class meeting, she ___ us about her life in the United States. 


A. went on telling


B. went to tell


C. went telling


D. went on to tell

#

2011-23. 
The problem is believed ___ at the meeting two days ago.


A. to have discussed

B. to have been discussed


C. being discussed

D. having been discussed
2012-33. 
I'm sorry ___ so long. I forgot to tell you in advance that I would have a meeting this afternoon. 


A. to keep you waited


B. to keep you waiting


C. to have kept you waiting


D. to have kept you waited

#

2011-25. 
Some of the committee members suggested ___ a party for the visitor, but the Chairman didn't approve.


A. to arrange

B. arrange


C. arranging

D. to be arranging
2012-34. 

I bitterly regret ___ him the sad story. 


A. having told


B. to have told


C. to tell


D. told

2012-28. 

The electric furnace ___ before it can be used. 


A. needs repairing


B. should be in repair


C. must repair


D. has to be repairable

=The electric furnace needs ___ before it can be used. 


A. repairing


B. repaired


C. being repaired


D. to repair

4.
独立主格

2011-22. 
All flights ___ because of the snowstorm, many passengers could do nothing but stay at the airport.


A. had been cancelled

B. were cancelled


C. having been cancelled

D. have been cancelled

2012-26. 
___, we decided to leave at once, as we didn’t want to risk missing the last bus. 


A. Being pretty late


B. As it being pretty late


C. It being pretty late


D. It was being pretty late

· Such ___ the case, there are no grounds to justify your complaints.


A. be

B. being


C. was

D. as

5.
名词从句

2011-27. 
___ me most was that the young man who had lost both arms in an accident could play the piano beautifully with his feet.


A. That amazed

B. It amazed


C. Which amazed

D. What amazed
2011-33. 
Advertising is distinguished from other forms of communication ___ the advertiser pays for the message to be delivered.


A. in that

B. in which

C. in order that

D. in the way
2012-45. 
Liquids are like solids ___ they have a definite volume. 


A. on that


B. for that


C. with that


D. in that

2011-39. 
The reason why I came back is ___ she would have been very angry if I hadn't.


A. that

B. because

C. for

D. that because

· ___ men have learned much from the behavior of animals is badly new.


A. That


B. Those


C. What


D. Whether
· The time is not far away ___ modern communications will become widespread in China’s vast countryside.


A. when


B. as


C. until


D. before
6.
定语从句

2012-38. 
The crime was not discovered till 48 hours later, ___ gave the criminals plenty of time to get away. 


A. which


B. that


C. as


D. what

· This is the same story ___ I heard ten years ago.


A. that


B. which

C. what 

D. of which

· The poor boy, ___ father died in a car accident, had to depend on his uncle.

A. who

B. who’s

C. whose

D. whom

· The residents, ___ had been damaged by the flood, were given help by the Red Cross.


A. all their homes


B. all whose homes


C. all of whose homes


D. all of their homes
· ___ is known to the world, Mark Twain is great American writer.


A. That


B. Which


C. As


D. It
· Helen was much kinder to her youngest child than she was to the others, ___ of course, made the others jealous.


A. who


B. that


C. what


D. which
7.
状语从句

· Government cannot operate effectively ___ it is free from such interference.


A. so long as


B. so that


C. unless


D. because
· Scientists say it may be five or ten years ___ it is possible to test this medicine on human patients.


A. since


B. before


C. after


D. when

8.
比较级

2011-26. 

—Do you regret paying five hundred dollars just for the oil painting?


—No. I would gladly have paid ___ for it.


A. twice as much

B. twice so much


C. as much twice

D. so much twice

2011-36. 
There were ___ accidents on the road this year than last year, but this doesn't mean there is ___ need for careful driving.


A. less; less

B. fewer; little

C. less; fewer

D. fewer; fewer
· The price of new clothes is surely higher than ___.


A. old ones


B. those old ones


C. that of old ones

D. that old one

· The great use of a school education is ___ to teach you things as to teach you the art of learning.


A. much


B. not so much


C. much as

D. much more

· Beethoven is my favorite musician. I regard him as ___ other musicians.


A. superior to


B. more superior than


C. more superior to


D. superior than
9.
虚拟语气

2011-40. 
Don't come tomorrow. I'd rather you ___ next weekend.


A. will come

B. came

C. to come

D. had come

2012-25. 
It’s high time ___ him a severe lesson for being late. 


A. you give


B. you gave


C. you’ll give


D. you should give

012-40. 
___ the final exam, I would go shopping this afternoon. 


A. As for


B. Because of


C. But for


D. Due to

· If he ___ the storekeeper's scissors, he would have forgotten to buy a pair.


A. would not see

B. had not seen


C. has not seen

D. were not to see

· 029. The doctor insists that his patient ___ it easy for three months.


A. takes

B. to take


C. took 


D. take 

· My father did not go to New York; the doctor suggested that he ___ go there.


A. not to

B. does not


C. won't

D. not

· Copernicus maintained that the earth ___ round the sun.  *


A. moves

B. moving


C. moved

D. move

· It was essential that all the necessary document ___ in to the personnel office.


A. hands

B. is to hand


C. be handed

D. must be handed

· If only he ___ what I tell him, but he doesn't.


A. had done

B. would do


C. would have done 

D. has done

· ___ an international student to work without proper papers, he would be in violation of his visa.


A. Were

B. Had


C. Was

D. Should

· But that he saw it, he ___ it.


A. can't believe

B. did not believe


C. could not believe


D. could not have believed

· We hurried to the station only to find that the train had been delayed. We ___.

A. didn't need to hurry

B. needn't have hurried


C. need not have to hurry


D. should not hurry

10.
推测语气

2011-38. 
When I went out jogging early this morning, I found the ground wet. It ___ last night.


A. might have rained

B. may have rained


C. can have rained

D. must have rained

2011-29. 
Bob ___ hard; otherwise, he ___ this exam.


A. must have worked; would fail


B. mustn't have worked; wouldn't fail


C. can't work; wouldn't have failed


D. can't have worked; wouldn't have failed

11.
倒置

· 倒置
（前置；中置=插入结构；远置； as）

As most people would agree, college students should take part-time jobs to enrich their experiences.
College students, as most people would agree, should take part-time jobs to enrich their experiences.

The new satellites have been ___ to earth photographs of the surface of the moon and other information about the universe.

A. sending it back

B. sending back

C. sending it

D. sending back it

Word came as a surprise from Jane ___ each of the new students is about to have an opportunity to visit the Antarctic. 

A. that
B. what

C. which
D. who

12.
倒装

2011-30. 
Scarcely ___ asleep when a knock at the door awakened her.


A. had she fallen

B. she had fallen


C. did she fall

D. she fell
2012-31. 
Seldom ___ any mistakes during my past 10 years of working here. 


A. I did make


B. did I make


C. I would make


D. I made

· Only after a baby seal is pushed into the sea by its mother ___ to swim.  


A. how will it learn

B. it will learn how


C. will it learn how


D. and it learns how

· John had been working hard, ___.


A. so his brother did

C. and so was his brother


B. so did his brother

D. and so had his brother

13.
强调结构

2011-31. 
___ man realized that the brain controlled our thinking.


A. It was not until the 18th Century that


B. It was the 18th century since


C. Not until the 18th century did


D. It was until the 18th century which

2012-24. It ___ John and Peter who helped me with my work the other day. 


A. were


B. is


C. had been


D. was

· It was not until she had arrived home ___ remembered her appointment with the doctor.


A. when she

B. and she


C. that she

D. so that she

· ___ fairly recently that this problem was solved, at least partially.


A. Until


B. It was until


C. Not until

D. It was not until

· He couldn't say what it was ___ bothered him.


A. it


B. that


C. which

D. as
14.
词序

(网络摘录)
教学生时都让他们记住一句话:"县官行令杀国材"：

县，即"限"，指限定词，如：the; a/an ;
官，即"观"，指观点或评价性形容词，如：lovely; interesting; beautiful;
行，即"形"，指形状大小，如：large; big; 
令，即"龄"，指年龄及新旧，如：new; old; ancient; two-year-old…;
杀，代指谐音"色"，指颜色。如：red; green;
国，指国家或出处，如：Chinese; Japanese; home-made…;
材，指材料，也就是用什么做的。如glass; stone
2011-34. 
My grandfather has a pair of ______.


A. Spanish leather black boots

B. black Spanish leather boots


C. Spanish black leather boots

D. leather Spanish black boots

15.
附加疑问句

2011-35. 
I don't think you can finish painting the fence alone in such a short time, ___?

A. do I 

B. can you

C. can’t you

D. won’t you
· He never laughs, ___ he?


A. does


B. will


C. doesn’t


D. won’t

· Let's stop to take up another subject, ___ we?


A. oughtn't



B. shall

C. don't

D. should

16.
习惯用语

（略）
“翻译”考查重点及解题技巧

考查重点：词汇+结构
英译汉 (  难句理解
（重点突出）
汉译英 (  语法应用
（语法正确）
“作文”考查重点及解题技巧

篇章结构 (三段式) 
句型结构（多样性）
内容要点（总分有序）


提纲作文套路类型：

· 观点型
· 现象型

· 问题型

作文套路5类型
类型1：两种观点取其一

类型2: 问题-原因-提方案
类型3: 现象-利弊-谈观点
类型4: 数据-关系-得结论  (图表)    (研2) 
类型5: 看到-说到-想到    (图画)    (研1) 

引出话题（观点）

In recent years/decades, there have been many discussions as to [ARGUMENT]. Some people think that [ARGUMENT ONE]. Other people, however, have a different view, believing that [ARGUMENT TWO].

表态：

After some careful thinking, I believe that the second opinion is more reasonable. 

引出多种因素（多个部分）之最
Many factors are involved as far as this (#####) is concerned, namely [ITEM 1, ITEM 2, and ITEM 3]. 

To average people, [ITEM 1] and [ITEM 2]  are considered the most important, especially when it comes to [####]. In my personal judgment, however, [ITEM 3] are/is what really counts. 

[ITEM 3]重点阐述：

There are several reasons for this, three of which are of great/obvious importance. Firstly, we can get many immediate benefits if [ITEM 3 POSITIVE STATEMENT]. For example, ######. Secondly, [ITEM 3] can be considered a source of many other advantages. Thirdly, if [ITEM 3 NEGATIVE STATEMENT], other problems will come sooner or later in the long run. 

引出话题（问题）

In recent years/decades, many/most people have realized the [seriousness/importance] of [ITEM1]. However, they have not paid enough attention to [ITEM2].
分析问题原因：

There are two major reasons for this problem. [Social reasons] are obviously responsible for this. As we all know, the government has not done its job accordingly, especially when it comes to policy making.  [Personal reasons], on the other hand, are/is also a very important factor, even a decisive one. Most people were not quite conscious of the potential results/consequences of this problem. They should have known better than ignore the early stage of its development. 
解决问题方案：

There can be various ways to solve this problem, two of which are of greatest possibility/practicality. To start with, the local government/authority should take more effective measures to help solve this problem. Besides, everybody has the responsibility to take this matter seriously and offer his help accordingly.  Only in this way can everything change for the better. 

引出话题（现象）

Recently, there have been more and more [PEOPLE/OBJECTs] [V-ing Phrase]. It seems quite natural at first sight, but, with a second thought, we can realize that something behind it deserves our closer attention.  Now, it is time for every one of us to pay some attention to this phenomenon.
分析现象原因：

There are two major reasons for this phenomenon. [Social reasons] have/has usually been the most important.  As we all know, the government has not done a good job in developing correct values/attitudes. [Personal reasons], on the other hand, are/is also a very important factor, even a decisive one.  Individuals were (not) quite aware/ conscious of the potential benefits/consequences of this. 

分析现象的利弊

This has obviously brought many advantages. Firstly, it is helpful to the community/society as a whole, and it encourages more people to follow this example. Secondly, it is good to our personal development, bringing us unlimited benefits.  Besides, it can be the source of many other benefits that make our life more colorful. 

This has obviously brought many disadvantages. Firstly, it is harmful to the community/society as a whole, and it prevents more people from following this example. Secondly, it is harmful to our personal development, bringing us unlimited puzzles.  Besides, it can be the source of many other problems that make our life less colorful. 

呼吁：

If everybody takes this matter/issue seriously and develops positive attitude toward this, every thing will change for the better.

附：图表题开头模式 (完成开头后即选择主题展开论述)
第一句：陈述表名

1. This is a chart/graph named/concerning/about [图表标题].

***********************

第二句（任选一） “两点数据”的上升、下降、保持、比例：

2． The number/amount of students/money is 2 million in 1998, while this figure reaches 2.5 million in 2000. （柱形图、折线图）

2． The number/amount of students/money is 2 million in 1998, while this figure drops to 1.5 million in 2000. （柱形图、折线图）

2． The number/amount of students/money is 2 million in 1998, and this figure remains almost unchanged all the way to 2005. （柱形图、折线图）

2.  The number/amount of students/money is 1.1 billion, about 20% of the total 5.8 billion. (饼形图)

***********************

第三句（任选一） “两点数据”的关系：倍数、分数、异动：

3．Obviously, between 1999 and 2005, the number/amount of students/money has experienced a sharp/steady/slight increase/decrease，with an exception in 2003. 

***********************

“三点数据”的持续上升/下降状况:

上升 The number/amount of students/money is 1.5 million in 1998, and this figure is 2.0 million in 2000, which is about 1.3 times as big as that in 1998. Furthermore, this figure continues to grow, reaching 4 million in 2004.

下降 The number/amount of students/money is 4 million in 1998, and this figure is 3 million in 2000, which is about 3/4 as big as that in 1998. Furthermore, this figure continues to drop, touching 1.5 million in 2004.

*************************

Those figures have some important implications which deserve our close attention.

*************************

附：图画题开头模式  (完成开头后即选择套路之一展开论述)
单图

As we can see from the drawing above, there is/are [People/Object] [V-ing]. This drawing highlights/mirrors a common problem/phenomenon, which should have attracted much more public attention. 

多图综述

As is described in the drawings above, there is/are [People/Object] [V-ing]. These drawings highlight/mirror a common problem/phenomenon, which has attracted much public attention. 

多图分述

As is vividly shown in the first drawing, there is/are [People/Object] [V-ing] (and [People/Object] [V-ing]).  In the second drawing, we can see [People/Object] [V-ing] (and [People/Object] [V-ing]). These drawings highlight/mirror a common problem/phenomenon, which should have attracted much public attention.  
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